| #xX1 =4 |

FEMZEDIRERNRE

THITEE

P E=lghinki=:

4 THTEEBMME (KEF-R&REF 1 X) g (C14n) KERE



FEME (REANRRK)

[#zt2 GEERR) |

2 SHMIEEEMME (KEF-RHREF HX) M (-14m) KERE

&R HE 2% Wi
EEIEE
1= 23,883,393
KERERAEER
1= 23,883,393
KEHE

1= 23,883,393

KERE FE#ER 1.00xX. FHBIE 53. 008, HBIE+HEK 3.008, HEhEH 1.00=X. 247EER 1.00=,
s 23,635, 093 HESMER 1.00xX, FEaTHHE 1. 00E, &EHKE 1.00[E

EEEE EBARR 1.00X, EIFHRAEE 1.00X
1= 248, 300




FEME (EREEE)

[#zt3 GEmas) |

4 SMIFEEBMME (KRF-RHEF HBX) HEE (-14m) KERE

B e ] RER
EEAIEE
1= 23,073,798
1= 15, 936, 202
AEFEE
1= 39,010, 000
E R
1= 809, 595
BEEAHE
1= 801, 580
EERE
1= 8,015
% Ot R fff
1= 431, 650
E i
1= 1,241, 245
—REEEF
1= 658, 755
AEREE
1= 1,900, 000
BT e
1= 40, 910, 000
FELEME
1= 40, 910, 000




